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'Instructlons T ;
" i)Do not open this paper untll mstructed _
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iv) In orderito obtain full marks for any questmn full WOl'k:mg must be SRR
Shown ,
' MARKS
{ Simlionioous B34 | Vol, Sufics Arcal24, | Xdig, Consume12 | FomIed N\
! t .

1.




‘YEAR10, TASK 2, FEB 2006 - .

SIMULTANEOUS BQUATIONS.

Questionl. - o
Solve simultaneousty: ~ y=10 ) B

"7 Question 2. o
. - Solve simultaneously: . .

Question3. S
Solve simultaneously: 3x+2y=4 x 2
) 2Xx+5y=21 x3




Questiond. a o s ks
Solve simultaneousty:. y=4-3x - @ . -
x-y=10 -&

'Questlon 5 : I 6 Marks
" From the followm , nformatlon form a palr of smlul’taneous equations, then solvethe .
‘equations.
" The cost of tickets for a stage show 1s $50, for adults and $30 for children. A total of
3500 people (adults and children) ‘attended The total from ticket sales was $ 145 000.
How many adults and how many children attended? ' '
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VOLUI\{E AND SURFACE AREA. .

Question 6. ) T o - 2 marks
" Calculate the volume of the prism 1 showsiin cufx{c ml}hmetres o ' '
Convert your answer into, cubic cemtimetres- '
l : e
i 6 mm
s o
- ,,_/f. ‘ ,--_'s‘ . Ij‘m =
‘ 17 ;nm )
Questum ’7 : : R T 2 Matks
Caléulate the volume of a cylinder of rachus 10 cm, he1ght 15 cm. Give your answer
correct to 2 decimal p places.

—



Question 8. . - - : o ; 3 Marks _
‘Calculate-the yolume. of a ggaa@y;__ amid with base. edge 22 4 cm, perpend:mﬂaz; . S T
‘ helght 60.6 cm. lee your answer correct to the neareE Wﬁoie number. o
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:Questlon 19 ) - ' - 2 Marks A E
Calculate the volume of a hemisphere, radms 15 cm Answer correct to 3 decimal = - '
‘places, Lo T S - -




Questxon_ll,. ]
‘Calculate the surface area of a cIosed cy]mder Iadms JS____cm,r Iengﬂ1 60 cm. Answer e

conect to the néaréstwhole. number B e . ;
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Q 4 =
Calcﬁlzété_ the sutfice.arca of the’

t{es correct tﬁfi’ﬁeé;iﬁié] ;iﬂa\c%s
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‘Question 13. . : .
- A cylinder has a cone cut out as shown, _
a)What fraction of thé vohume of the eylinder remaing?
b) Calculate the remaining voluns, correct to the ne

" Question 14, —
- Caloulate the surface area of
hegrest whole-number: - -,

U p—i

arest cubic centirtetre,
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TRIGONOMETRY S R |

Question 17.. 7 - - R ol o ' 3 Marks
A kite is on a string 80 metres Icmg and is flying at an elevation of 34° 25", Calculate
ifs height above the ground. Answer to 1 decimal place. DRAW A SKET CH FIRST
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ANSWERS TO TRINITY GRAMMAR SCHOOL,

YR 10 - 2006 FEB ASSESSMENT

SIMULTANEQUS EQUATIONS

x=5y=-

2000 adults,
1500 children

VOLUMES AND SURFACE AREA

4712.39 cm’

21.54 cm

7068.583 cm’

6.43 m’

1385 cm®

384 ¢m’

| $3045 |
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